Newton’s 1st Law - an object at rest will stay at rest

Objective:  To get the most pennies into the bottle without any missing.

Set up:

1. Collect several glass or plastic bottles that have wide mouths.  I have 20 students that work in groups of two so I collected 10 bottles.  Gatorade bottles work great.  However, glass liquor bottles are even better since they are heavier.  (Be sure and pull the labels though!!)

2. Buy several wooden crochet hoops at Hobby Lobby or Wal-Mart.  See picture below.  Buy the same amount of hoops as bottles you have collected.  I bought 10.
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3. Collect as many pennies as possible (a couple hundred is best).

4. Remove the inner hoop from the wooden crochet hoop.

5. Balance the inner hoop on the mouth of the bottle.  See picture.
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6. Place 1 penny on top of the hoop.

7. Quickly sweep your hand through the inside of the hoop and pull it off the bottle.  The penny should drop straight into the bottle.  If not, practice!  This is similar to the magician pulling the tablecloth out from the fine china and the china stays in place.  You have to be quick!

8. Once you have gotten 1 penny, try putting 5 pennies on the hoop.  My students are able to put 50 or more on each time without one penny missing!  

The Competition:

1. In teams, the students will take turns putting pennies on the hoop and quickly removing it.  If all of their pennies go into the bottle they get to continue playing and place more pennies on the hoop.  

2. If even one penny does not go into the bottle, their turn comes to an end and their partner than takes over.  Once the partner finally missing a penny, the total pennies in the bottle are removed and counted.

3. Their total pennies is counted and recorded and the next team gets to try.

4. The team with the most pennies in the bottle is declared the winners.

5. Sometimes, I have uneven numbers in class and so I have 3 on a team.  In this case, I take an average and compare that.  For example if a group of 2 gets 46 pennies in, the average is 46/2 = 23.  Next, a group of 3 tries and gets 63 pennies in.  Their average is 63/3 = 21.  The group of 2 wins because their average is higher.

